Reasoning Jack is trying to represent his
subtraction calculations on part
whole models. Is he correct?

13-6=7 ir-9=8




SKill: I can subtract within 20.

Subtraction from 20

9-2=

e



Subtraction from 20

19-3=
=




Subtraction from 20




Subtraction from 20




Independent
activity.

Using the number cards, how many different
subtraction calculations can you create?

4] 9 |22][15][18



Digging deeper.

I know that I have all the answers because...



Reasoning

I counted my marbles and I
have 5 more than 20.

Gina

i I counted my marbles
and [ have 30.

Who has the most marbles?
Explain how you know.




Independent

L}
Build it | e« Draw it

activity.

Write it : Show it




